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strcpy(v8, ":\"AL_RTAL*.?+6/46");
V7 = 0x65626D61726168LL;
V6 = 7;
printf("Welcome to the RC3 secure password guesser.\n");
printf("To continue, you must enter the correct password.\n");
printf("Enter your guess: ");
__iso0c99_scanf("%32s", s);
v3 = strlen(s); /] SHIKE
if ( v3 < strlen(v8) )
incorrcet_password();
for (i =0; i< strlen(s); ++1i )
{
if (i >= strlen(v8) )
incorrcet_password();
if ( s[i] !'= (char)(*((_BYTE *)&v7 + i % v6) ~ v8[i]) )
incorrcet_password();

}

correct_password();
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k=str(bytes.fromhex(hex(28537194573619560)[2:]))[-2:1:-1]
#LLKBHL, FEELAANHEGFERRFR, BRI, B ERFiE G E
v= ":\"AL_RT~AL*.?+6/46"
flag=""
for i in range(len(v)):
flag+=chr(ord(v[i])~(ord(k[(i%7)1)))

print(flag)
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BIZES:  Python (3.8.1) ~ = v =G R
1 k=str(bytes.fromhex(hex(2853719457361956@)[2:]))[-2:1:-1] BT
2 w= "I\"AL_RTAL¥. 246/46"
% flag=""
4 for 1 in range(len(v)):
5 flag+=chr(ord(v[i])~(ord(k[(i%7)]))) TERIA
& print(flag)
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